HRETA 4 : D) B FETH

(T Gl RN R A i

N=

1

SEEK2 91 1 H3 0 Hsie

N

%

&

N

%

L4

AR

%

&

7B R 4 & i T B K 4 o it TR R 4 & i
AAR NS | SME A [ IRA S AARNAT S | SME S | IRA T 5 AAR NS | SME A | IRA A

a8 CHAA | 2,288/ 2,380[ 4,668 wm CRAA | 1,201 1,191 2,392 [nm HAA | 465 456 | 921

AEA | 8 5 ] 13 AEA | 3l | 6 sEA | 20 2|

3t 2,296] 2,385 4,681 &t 1,204 1,194 2,398 it 467 456 923

1,827 2 11] 1,840 955 3 3 961 368 2 370

5 CHAA | 2,467 2,593 5,060 [ teen CRAA | 1,418 1.474] 2,892 [m= HAA | 955 877 1,832

sEA | 190 1o 34 sEA | 3 5. 8 HEA | 23| a4 27

it 2,486 2,608 5,094 it 1,421 1,479 2,900 it 978 881 1,859

1,933 14 16] 1,963 1,129 2 6 1,137 712 20 7 739

i HAA | 953 9600 1, 913| ez Ak A | 840] 7820 1,622 |ms HAA | T06] 709] 1,415

sE A |16l 2l ] 18 sE A | 3l 3 sEA | | 7 |

it 969 962 1,931 it 843 782 1,625 it 709 7111 1,420

740 10 7 757 626 1 2 629 h27 | 4 32

e HAA | 643 5901 1, 233| |w CRAA | 1,238 1,284 2,522 |=mw HAA | 604 661 1,265

AEA | | 20 8 AmEA | 9 oo 16 sEA | 3 5 8]

it 649 b92 1,241 it 1,247 1,291 2,538 it 607 666 1,273

486 2 6 494 953 4 8 965 466 2 2 470

K HAxA | 6500 661 1,311 [#u CRAA | 2,478 2,574 5,052 |ais HxA | 817 811 1,628

AE A | 9A 14 23 N 24 . 1741 CAE A 300 ] Y

it 659 675 1,334 it 2,502 2,591 5,093 it 847 818 1,665H

Hh83 14 3 600 2,214 16 211 2,251 702 28 4 734

B CHAA | 879 881 1, 760[ [wmm CRARA | 2,008 2,046 4,054 |z CHAA | 1,021 1,091 2,112

s o100 | 16 N | S | 12 A A | 8l R | 11

it 889 887 1,776 it 2,017 2,049 4,066 it 1,029 1,094 2,123

787 b 9 801 1,602 4 7 1,613 867 8 3 878

S CHAA | 1,046] 980[ 2, 026| [== CRARA | 1,789 1,833 3,622 |#mu CHAA | 1,009 1,086/ 2,095

A A | 8l | 14 N {{ | 10 .3 1N Y | I 321

it 1,054 986 2,040 it 1,796 1,836 3,632 it 1,027 1,089 2,116

890 4 4 898 1,595 6 4 1,605 822 14 6 842

Il CHAA | 1,128 1,110{ .2, 238 |z CRARA | 1,512 . 1,517...3,029 [»&0m — CEAA | 1,040 1,117 2,157

A |14 21035 11N I R | 3 A A | 6l . R | 9

At 1,142 1,131 2,273 it 1,512 1,520 3,032 At 1,046 1,120 2,166

864 18 6 888 1,207 | 20 1,210 803 9 812

fiia CHAA | 1,392 1,365 2, 757] | rumm CRARA | 1,235] 1,318 2,553 [zxnu=pm CHAA | 1, 171] 1,254 2,425

A E AL 9 R | 12 S A 42| 4 46 A EA | 250 19 44

3t 1,401 1,368 2,769 At 1,277 1,322 2,599 i 1,196 1,273 2,469

1,060 6 4 1,070 1,081 36 bl 1,122 933 33 6 972

LR, CHAEA | 1,474] 11,5600 .3, 034] | xm CAAA 910 893 .1, 803 | »romms CHAA | 1,050 1,051 2,101

A | 51 10 61 AR A | 8l 3] 11 A |14 120 26

it 1,525 1,570 3,095 it 918 896 1,814 it 1,064 1,063 2,127

1,325 47 9 1,381 715 4 6 725 839 11 7 857

TKAQ420B (TKA0430F/TKAO430V)



HRETA 4 : D) B FETH

(T Gl RN R A i

N=

2

SEEK2 91 1 H3 0 Hsie

N

%

&

N

%

L4

AR

%

&

7B R 4 & i T B K 4 o it 7oK & i
AAR NS | SME A [ IRA S AARNAT S | SME S | IRA T 5 AAR NS | SME A | IRA A

B CHAEA | 1,484] 1.519] 3,003| |zFn A&k A | 408 471 879 [ CHAA | ] 151 112 | 263

HEA | 27 14 41 sEA | | | 7 .Y VN R A R

il 1,511 1,533 3,044 & 412 474 886 i 151 112 263

1,315 16 16 1,347 407 1 6 414 130 130

A HAxA | 432 426 858 | A&k A | 520 4700 990[ [z CHAA | ] 116 20 188

.Y VN R | .25 AL I 1 .3 VN R A R

it 450 433 883 it 520 471 991 it 116 72 188

409 18 3 430 408 | 409 107 107

A HAxA | 938 9200 1,858 [wmnmm CRAA | 1,689 1,765 3,454] |ams HAA | 654 585 1,239

.Y VN R Y { 27 44 sEA | 23 14 37 sEA | a4 || ]

it 955 947 1,902 it 1,712 1,779 491 it 658 h86| 1,244

779 32 6 817 1,315 18 100 1,343 488 4 1 493

thif I N N o 538 1, 055 |mumam CAAA | 827 807 1, 634 | s HAA | T3 800 1,531

sEA | 8 21 29 HEA | 25 | 6| 3l sEA | a4 3 7]

it h25H b59] 1,084 it 852 813 1,665 it 735 803 1,538

448 26 3 477 713 25 3 741 593 | 6 600

e aAxA | 507 512 1,019 | CAAA | 374 412 786 | 5 HAA | T88 756] 1, Hh44

.3 1N Y | S 1023 L 1/ I W | S 10 .21 A 2l 2|

it 520 h221 1,042 it 385 422 807 it 788 758 1,546

501 13 6 520 376 4 6 386 589 2 H91

R CHAA | A83] 4800 ¢ 96 3| |wamus CRARA | 1,779 1,794 3,573 [mun CHAA | T200 683 1,403

s o100 ] | 15 LI/ R (I 9......_.26 A A | 20 2l 4]

it 493 485 978 it 1,796 1,803 599 it 122 685 1,407

460 6 7 473 1,467 b 16 1,488 52 4 56

sl CHAA | TAL 708 1,449 |wus CRARA | 2,141 2,059 4,200 |mms CHAA | 1,964 1,812] 3,776

CAE A 290 . L7 .46 LN ) R | 8 . N 20 2 4

it 770 725 1,495 it 2,146 2,062 208 it 1,966 1,814 , 180

791 24 4 819 1,617 2 bl 1,624 1,604 2 1] 1,607

o CHAA | 1, 166[ 1,284 2, 450] |wes CAAA | H83 502 1, 085] | wsmm CHAA | 607 562 1,169

.3 1N Y Y { S 18 .35 11/ IS | IS NN, . N || | ]

it 1,183 1,302 2,485 it h84 b02 1,086 it 608 hoo| 1,174

988 19 bl 1,012 459 | 460 550 2 2 bh4

5 CHAA ] .596] 581 1, 177 | sz CRARA | 1,955] 1.616] 3,571 s CHAA | ] Loy 91 . 202

.3 1N Y | S l2| 24 N 2l 2 . N | N |

at 608 593 1,201 it 1,957 1,616 h73 it 112 91 203

hT74 12 6 592 1,484 | 1] 1,486 109 | 110

s CHAEA | 1,060 1,104] 2, 164] |w= CRARA | 245 185 430[ | b CHAA | ] 143 99 . 2472

. N 8l ] | 15 L3I/ N | I 2 3 WA || —

it 1,068 1,111 2,179 it 246 187 433 it 143 100 243

871 2 12 885 243 3 246 133 | 134

TKAQ420B (TKA0430F/TKAO430V)



HERTRA « D 5 E T 17 B X B N @ # 3 #

Ny 3 END
SEEK2 91 1 H3 0 Hsie
0B K 4 A » x & 3 0o K 4 A » k & 0B K 4 A ” x & &
pA e | hmE At | Rawk A | aE A | At RA AR | R A | At
= CBEAA | 93 69 162 BAA | BAA ]
.3 1V N N A I I R P =1 U S N N N R 01N R R R
il 93 69 162 it il
92 92
Hhk CBEAA | 52 45 97 exA 0 leAAL
.Y VN R 01 =oAL r sEm A
it 52 46 98 ;
Hh2 | h3
et BAA | ] 145 115 ¢ 260 CBAA | BAA ]
S 1V N O A I I R N 71 N S I N N R 01 R R R
it 145 115 260 i it
145 145
@aE BaA&A [ 61,107 61,059|122, 166 CBAA | BAA ]
snmE A | 652 392 1,044 A 01 R R RO
it 61,759 61,451(123, 210 3 2t
50, 380 53 324| 51, 257
BAA BAA | BAA ]
B3 1/ N O VA I N K oA\ sl A ]
3t i it
CEAA CEAA L CEARA ]
B, 1V N O VA I N N oA\ sl A ]
it it
CHARAN . SRR AN .
B3 1V N O VA I N K A
it 7
SRR . SRS 7 N0V N I S
B3 1/ N S VA I N K A |
it 7
CHARAN . SRS 7 N0V N I S
B3 1/ N S VA I N K PN 1N R I N
it 7
CEAA CEARA CEARA ]
B3 1/ N S VA I B K oA\ sl A ]
it it

TKAQ420B (TKA0430F/TKAO430V)



